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Reliability
Name: ______________________________________
1. If you are absolutely certain that a machine will work as expected, what is the reliability? 

A. 10

B. 0

C. 1

D. 0.5
2. A step in a chain-reaction machine was tested 12 times. The step did not work as expected 7 times. What is the reliability of the step?

A. 0
B. [image: image2.emf]









C. [image: image4.emf]









D. 1

3. The reliability of two steps was measured. For step A, which involved a ball rolling down a ramp and hitting a car, the reliability was [image: image6.emf]








.  For step B, which involved a car moving along a horizontal track and falling onto a lever, the reliability was [image: image8.emf]








. Which of the following statements is true?
A. Step A and step B are equally likely to work as expected

B. Step A is more likely to work than step B

C. Step B is more likely to work than step A

D. Step A and Step B are equally like to not work as expected
4. How do you calculate the reliability of a machine given the individual reliability (RA, RB, RC, and RD) of each of the 4 steps in the machine?
A. RA + RB + RC + RD
B. RA × RB × RC × RD
C. RA - RB - RC - RD
D. RA ÷ RB ÷ RC ÷ RD
5. The reliability of the 3 steps in a machine is as follows: 0.5, 0.3, and 0.2. What is the reliability of the overall machine?
A. 1
B. 0.5

C. 0.03

D. 0.6
6. When testing for reliability of a step which of the following procedures is not correct
A. Record the number of trials and failures
B. Record the number of trials and successes

C. Have one member complete half of the trials and another member complete the rest

D. Run the step the exact way for each trial
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